
Tables de division                      Correction
Tables du 2,

du 5 et du 10
1) Complète

12 ÷ 2 = 6 14 ÷ 2 = 7 2 ÷ 2 = 1 8 ÷ 2 = 4 10 ÷ 2 = 5

6 ÷ 2 = 3 18 ÷ 2 = 9 20 ÷ 2 = 10 4 ÷ 2 = 2 16 ÷ 2 = 8

2) Complète

25 ÷ 5 = 5 15 ÷ 5 = 3 10 ÷ 5 = 2 20 ÷ 5 = 4 5 ÷ 5 = 1

35 ÷ 5 = 7 30 ÷ 5 = 6 40 ÷ 5 = 8 50 ÷ 5 = 10 45 ÷ 5 = 9

3) Complète

20 ÷ 10 = 2 70 ÷ 10 = 7 50 ÷ 10 = 5 30 ÷ 10 = 3 40 ÷ 10 = 4

10 ÷ 10 = 1 80 ÷ 10 = 8 100 ÷ 10 = 10 90 ÷ 10 = 9 60 ÷ 10 = 6

4) Relie chaque division avec le bon résultat.
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